“Count On It”

Available symbols:

Base 10:
0, 1, 2, 3, 4, 5, 6, 7, 8, 9

Base 2:
0, 1

Building numbers:

10310 
= 1(10)2 + 0(10)1 + 3(10)0 = 100+0+3 = 103

And

100102 
= 1(2)4 + 0(2)3 + 0(2)2 +1(2)1 + 0(2)0 = 1810
  1(16) + 0(8) + 0(4) + 1(2) + 0(1) = 1810

Counting by 1’s

00000
= 
0

00001
= 
1

00010
=
2

00011
= 
3

00100
= 
4

00101
=
5

00110
=
6

00111
=
7

01000
= 
8


Etc…

“Take A Big Byte”
Individual strings of 0’s and 1’s are too difficult to “visualize” and don’t offer many opportunities for useful movement of information within the computer.  The smallest amount of data “addressable” is called a “byte” which consists of 8 “bits” (0’s and 1’s).

“Meet the byte”
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2
1
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=
0

1
1
1
1
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=
255

0
0
1
1
1
0
1
0
=
58

+
Excel’s Bin (Base-2) functions:

DEC2BIN(65) = 1000001


BIN2DEC(1000001) = 65
Just numbers?

0
1
0
0
0
0
0
1
=
“A”
(65)

0
1
0 
0
0
0
1
0 
= 
“B”
(66)
?
?
?
?
?
?
?
? 
=
“Z”
(???)

What’s along the 0..255 road???

Consider 0..127 first

0
null

DCC
Device Control Characters…

1
^A


2
^B

3
^C

4
^D

…

Exploring with Excel’s character (string) functions:

CHAR(65)


VALUE(“A”)
What’s past 127 ???

Open Word…

